Incoming 7’s Summer Math

Middle School Students,

As you leave for your summer vacation we want to emphasize that the math review
packets you are receiving should not be started until early August. We are giving these
out prior to this time because we know some of you go away and you might need to take
them with you. We would like this work to be a way for you to review the math you
learned last year before coming back to school. In other words, we want this work to be
like warming up right before you go out to play a sport.

The work will also be available on the GA website as of August 15", If you are not
going to be home you can go to any place that has internet access and print out a copy of
the work. This book is designed for you complete in a two-week period, working
approximately 15-20 minutes per day. The answers are in the back. We would like you
to check your answers as you progress through the workbook in order to ensure that you
are doing the work correctly.

Your teachers will collect your packets the first day of classes. Please make sure that you
bring them to school on the first day of classes.

Don’t forget. Math is life. If you pay attention, you will see it all around you.
Have a great summer!

Greenwich Academy Mathematics Department






Summer Math (7)
Worksheet 1 — Order of Operations

Name

Date

Evaluate each of the following.

1) ()a2)

2 9F

5) (25)3)4)

2) 1431

4) 5%

6) 216 +12

Using the order of operations (PEMDAS) evaluate the following expressions.

7) 3+8+4

9) 11-(4+3)

11) 4:-6+2°

8 1+5°

10) 9-(5+1)

12) 8+2-4



13) 96+

BONUS: Cut the grid apart and randomly reassemble the pieces so that the

3-2x7

answers touch the problem.

14) 5-e+2]+3-11

7 2+4(6)-1 30 THAH
| 7|8
- Lo N IR p:
¥ gz
6(3)/4-1 4§07 |7 eS| 506
7(12-4) - 23 TH3(4+8)
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R = 3 s3I
6/2+5(4) 9 |
16 105
S oL
= %—* 2 1] g
13 | B+9(2)+4
(21+18)73 e 1 . 62 ’i‘
€ N F = 8
: TE & ¥
19 56 24-4(2) 6/2+8/2




Summer Math (7)
Worksheet 2 — Signed Number Arithmetic

Name Date

L

Perform the following integer operations.

1) =543 2) 9-(-3)
3) 8-14 4) =l1=(=7)
5) (=3)(-11) 6) 16+(-4)

7 (=2D=(=7) 8) 5:(-8)



9) —~4+3-9-2 10) —3-4--1
-212 12(~6)
1y —== fp) et i
) -4 ) 2(4)
BONUS:

1) Three ducks and two ducklings weigh 32 kg. Four ducks and three ducklings
weigh 44kg. All ducks weigh the same and all ducklings weigh the same. What is
the weight of two ducks and one duckling?

2) A farmer grows 252 kilograms of apples. He sells them to a grocer who divides
them into 5 kilogram and 2 kilogram bags. If the grocer uses the same number of
5 kg bags as 2kg bags, then how many bags did he use in all?

3) A 800 seat multiplex is divided into 3 theatres. There are 270 seats in Theatre 1,
and there are 150 more seats in Theatre 2 than in Theatre 3. How many seats are
in Theatre 2?



Summer Math (7)
Worksheet 3 — Order of Operations (Signed Numbers)

Name Date

Evaluate the following expressions using the order of operations and your knowledge of
integer operations.

1) 7-6(=3) 2) 8-4-2-6

3) DHR)E3)EHB-5) 4 (4-10)+(=1+3)

5) (=5)° 6) (-9(-2)+(-11)



Use the variable values below to evaluate the following expressions.

a=38 b=-2 c=12 d=-6
1) ab 2) b+c-a
3) ¢c+b 4y a-d-c
5) (c+a)b G 28




Summer Math (7)
Worksheet 4 — Decimals

Name Date
Evaluate the following expressions.

1) 3.41+2.06 2) 9.5-427

3) 0.802-0.09 4) 0.7+2.33

5) (12.6)3.4)

7) 9.88+4

6) 7(0.52)



Evaluate the following expressions.

asked to perform.

9) (5.31)0.26)

11) 0.88+3.2

13) 7-1.48

15) 11+0.2

Pay close attention to which operation you are being

10) 4.002-0.795

12) 16.9+1.3

14) 0.271+0.553

16) 8(5.43)



BONUS:

1y

Mr. Mason asked the children to open their math books to the facing pages whose
page numbers add up to 85. To which pages should the children turn?

Mark accidentally tore out a page of his math book. Mr. Mason asked him what
page it was. Mark said that the sum of the page numbers on the facing pages was
127. What are the page numbers on the pages Mark tore out of the book?



Summer Math (7)
Worksheet 5 — Fractions

Name Date

Evaluate the following expressions. Write your answers as mixed numbers.

y 2.5 ]
38 9 14
3 glal 5 Lal
5 3 6 2
1
8 4 3
5) —+— 6) =
) 15%5 . 1
6

8)

3
A
“Dlu‘lmlm
3]
| —
|
Y]
| —
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9) i+g 10) 3.3
7 7 5 10
1y 241 iy 2_1
9 6 3 4
13) —— -1 B -t
12 3 8 14

15) 1-2—+3l 16) Si-—fil
3 3 8§ 5



12

BONUS:

D

2)

A Drug Store parking lot has space for 1000 cars. 2/5 of the spaces are for
compact cars. On Tuesday, there were 200 compact cars and some standard size
cars in the parking lot. The parking lot was 3/4 full.

How many standard size cars were in the parking lot?

Farmer Tom put a square fence around his vegetable garden to keep the deer from

eating his corn. One side was 10m in length. If the posts were placed 2m apart,
how many posts did he use?
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Summer Math (7)
Worksheet 6 — Fractions (Mixed Numbers)

Name Date

Evaluate the following expressions. Make sure that your answers are in simplest form.

1y 4251 2y 3243
373 6" 4
3) 7533 4y 21422
510 93
5) 535-23 6) =124
8 "6 577



7)

8)

14

Annie passed around a basket of strawberries to the girls at her party. Before the
party she ate 5 strawberries and gave a friend 3. Eight girls arrived at the party.
The first girl took a strawberry, the second girl took 3 strawberries, the third girl
took 5 strawberries and so on. After the last girl took her strawberries, the basket
was empty. How many strawberries were in the basket at the beginning?

Rob wanted an allowance. His father gave him a choice of getting it on a weekly
or on a daily basis. He said he would either pay him $1.25 a week or pay him in
the following manner for a week: On Monday he would give him $0.01; On
Tuesday $0.02; On Wednesday $0.04 and on through Sunday. What would you
tell Rob to do so he can get more allowance?

BONUS:

1y

2)

Jenny bought 7 t-shirts, one for each of her seven brothers, for $9.95 each. The
cashier charged her an additional $13.07 in sales tax. She left the store with only
$7.28. How much money did Jenny start with?

I am an astronomer and my camera lens is 1.372m across. My friend George is a
spy and he has a camera lens of 2.9cm across. My aunt Marie is a surgeon and she

has a lens 1.5cm across.
a) How many more metres across is my camera lens than Marie's?
b) How many fewer metres across is Marie's camera lens than George's?

c) Around how many of George's camera lens' would fit across mine?



Summer Math (7)

Worksheet 7 — Intro to Percents

Nane
1.  Write esch fraction as a peecent.
a5
#  m
)] a0
s
c) z5
z
02 €
2, WFteeach decinl 3s a percent,
) 017
i) 0.495
¢) 003
d) 0625
3. Write each percent as a fraction.
a) 21%
by 7E%
) 16%
i) 105%
4. Wiite each percent as a decimal.
2) 19%
1) 1 2.5%
&) 5%
d) 0.0375%

Date

15
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BONUS:

1) The number of hours that were left in the day was one-third of the number of
hours already passed. How many hours were left in the day?

2) A manufacturer claims that a new motor oil saves 5 percent of the gasoline used
by a car. If you drive 24,000 kilometers a year and he gets 32 kilometers a gallon
of gasoline, how many gallons of gasoline could you save in 1 year?



Summer Math (7)
Worksheet 8 — Linear Equations

Name

Solve the following equations.

1) 2x=16 2) h-5=11

3) %=10 (m divided by 2 equals 10)  4) T+w=15

5) y-3=-5 6) %=-4

7) g+30=-45 8) —6n=-42
k

9) 18-z=12 10) Z=-21

Date

17




BONUS:

)

What is the starting number (?) ?

S
N

Multiply by 0.5

A

Multiply by 113

b

Square the number

A4
Add 1

50




Summer Math (7)

Worksheet 9 — Perimeter

Name

Date

19

Find the perimeter of the following figures. Include units with your answers.

1) 2)
5.4m
2.7m 2.7m
5.4m
3) 4)
22cm
15cm\ /15cm
llecm
5) 6)
3mm
4mm
9mm
6mm

50ft
Oft
40ft
3.2in
3.2in 3.2in
3.2in 3.2in
3.2in
6.4m
4.8mi /4.8m
6.4m
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BONUS:

1)

Jeremy had this problem on his first mathematics examination. He was having big
problems with answering the question. Replace each letter with a different
number. Identical letters should be replaced with the same number.

Can you help him?
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Summer Math (7)
Worksheet 10 — Area

Name Date

Find the area of the figures below. Include units with your answers.

1) 2)
3ft
11mm .
5.21t
.
Smm
3) 4) 3.lem
7in 4.8cm
-
12in
5) 6)
2.51n| 14m
-
2.5in

13m



Find the areas of the following triangles. Include units with your answers.

7)
9cm
=
12em

9

14mm

-

36mm

11)

10m

8)
Am
4in
10)
24ft
7Ht
12)

5in:

22

12in
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BONUS:

1) A side of square B is four times the length of a side of square A. How many times
greater is the area of square B than the area of square A?

B

2) Shane the Snail started at the dot. What side will he be on when he has crawled
13/20 of the distance around the regular pentagon of equal sides?

Side A@/ﬁu

Side B

Side B

Side D

Side C



Summer Math (7)
Worksheet 11 — Angles and Triangles

Name Date

24

Label the following types of angles as “acute”, “right” or “obtuse” and estimate their
measure.

/AN

4

/oA



25

Classify each triangle as isosceles, scalene, or equilateral and as right, acute, or obtuse.

A | / ” 10, | /,
3 . ’ i <J : \//;//
%@7 ; A | ~

BONUS:

1) Two carpenters decided to design desks for students at the Junior High. The
dimensions of the desk are as shown. How much wood would they need for 30
desks? (in cm?).

70cm

30cm

20cm 20cm

2) Carpeting is on sale and Mrs. Doyle is looking for some carpet for her living
room. Her living room is 4m by 5m. How much will it cost her to do this at sale
price?

CARPET SALE
Regular $9.99 square meter
Now on Sale for 20 percent off

3) The total bus fare was $2.10. What was the distance travelled when the fare is
$0.90 for the first 1/3 km and $0.10 for each 1/8 additional kilometer?



Summer Math (7)
Worksheet 12 — Word Problems

Name

Date

For each problem below

® define the variable
* write the equation
¢ solve the problem

* answer the question

1) Four less than a number is 70. Find the number.

2) 5 more than twice a number is -8. Find the number.

3) If twice a number is decreased by 10, the result is 26. Find the number.

4) The ABC Car Rental Agency rents cars for $23 plus $0.10 per mile. If Ruby has

$55 to spend, how far can she drive?



3)

6)

7)

27

Danielle saves $3.75 per week. How many weeks will it take her to save a total
of $52.50?

Rachel has two thirds as many customers as she had yesterday. If she has 18
customers today, how many did she have yesterday?

40 less than 8 times Mary’s age is the same as 24. How old is Mary?



28

8) If $56.35 is $21.65 less than double the money Sally earned. How much did she
earn?

9) In an isosceles triangle-the base is 6 inches longer than each of the legs. If the
perimeter of the triangle is 36 inches, how long each of the legs?

10)  The perimeter of a rectangle is 42. If the length two times the width, what are the
dimensions of the rectangle?



GRAPHING FOR FUN!

Locate the fotlowmg pounts on the graph below and connect them in order thh straight ki ne
segments. Do g__gt connect points separated by the word "STQP."

XYy = (5.4), 62), 7.1, (82), (9,)EI0R} 7.1) ) 8084 100 (11.@(-9,9), (10.7), (8.3), (8.1}
{-9,-1}, 8= -6,-1), (-4,9), {3,11), (4.5), (-6,-1), (3,11) (-4,9), (4,5) (0,7), (1.3), (2,0}, (4,-4), (8,-10),
(10,-12)@(-1 2,-9), (-11,-11), (-10,-8), (-9,-11), (-8,-9), (-7,-11), (-6,-10), (-5,-11), (-4,-8}, (-3,-11), (-2,-6),
1,-11),(0,-9), (1,-11),(2,-10), (3,-11), (4,-7), (5,-11), (6.-8), (7,-11}, (9,-8), (10,-11}, (11,-7), (12,-11).

HINT! On a windy day, you might want to do this!
- Remember to connect the points as you work!
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ACTIVITY RESOURCES COMPANY, INC., Box 4875, Hayward, CA 94545










Summer Math (7)
Worksheet 1 — Order of Operations

Evaluate each of the following.

UGM%=W0)

3) 282 %A -R-2A°Y

[ 159
1431 Al 1y B
A= _1
53
15
4 52 = 545) ik

4|
=E5) -3
6) 216+12 (8) lz_p:é:‘

Using the order of operations (PEMDAS) evaluate the following expressions.

7) 3+8:4 :@

3 ¥3

8) 1+5;2 =

1425

10) 9-(5+1)=@

& . b

12) ss\+/2-4

g -4



13) 9\6/+3—2\x/7 = :@

14) [5-(2:/2)]+3-11

32— [5 Y]+ 3~
20+ B-11= 25—
BONUS:
T 3 e
1R { D 1
o 0y
23 7 (21+18)/3 30
-4 < |5 =%
d = | & Bl
% = 2
9 6(3)M4-1 19 () +5(4)
TH-3+1 1 2+4(6)-7 62
3 g % = § &
& < -3
s6e8) | 56 B T 2440
105 H12-4) T43(448) 16
e S &
¥R = g g%
= § £




Summer Math (7)
Worksheet 2 — Signed Number Arithmetic

Perform the following integer operations.

) -5+3 =~-1 2) 9-(-3) = \2-
+

3) 8-14 =z =l 4 -1€N = b

5) (=3)~1D)= 3 6) 16+(-4) = -4

7 (=2D+(=7) =3 8) 5:(-8 =-4°

9) -4+3-9=2 = -12 10) =3-4--1 = \2

-1543
-212 _ 12(-6)

1D —= = 53 2 @ = -9
2

BONUS:

1) Three dﬁcks and two ducklings weigh 32 kg. Four ducks and three ducklings weigh
44kg. All ducks weigh the same and all ducklings weigh the same. What is the weight
of two ducks and one duckling?

20 Ko

2) A farmer grows 252 kilograms of apples. He sells them to a grocer who divides them
into 5 kilogram and 2 kilogram bags. If the grocer uses the same number of 5 kg bags
as 2kg bags, then how many bags did he use in all?

72 bwbo

3) A 800 seat multiplex is divided into 3 theatres. There are 270 seats in Theatre 1, and
there are 150 more seats in Theatre 2 than in Theatre 3. How many seats are in

Theatre 27
340 s>



Summer Math (7)
Worksheet 3 — Order of Operations (Signed Numbers)

Evaluate the following expressions using the order of operations and your knowledge of
integer operations.

D 78y @) 824D

T +\% g -1
3 -12-34-5-.-@ 4) (4-10)+(-1+3 =1—3)
)()(])( X4)(=5) )(V).(J)
1) .
5) (-5 = 25 6) (N-D+(-11) =7
A4
(-9(-5) V8 — W\
Use the variable values below to evaluate the following expressions.
a=38 b=-2 c=12 d=-6
) ab = -]k 2) b+c-a z 2
() ) +0) - (8)
-1 JI=

3) c+b : 4) a-d-c = @
(1= 1) FBL - (1D
gre 1\

5) (c+a)b =¢-40 6) b;“ _.,@
(12 +3) (-2)

(26) -2) —_— =




Summer Math (7)
Worksheet 4 — Decimals

Evaluate the following expressions.

1) 3.41+2.06 =

2 4\
4+ 2.0

547

3) 0.802-0.09 =

[

\' A
o ;o€

=
™

5) (26)34) =(H2.%4)

12.b
2.4

504
379 %

d 7
423y ey’

7) 9.88+4 =

§8

:

4 |

>

ﬁg55r

2) 95-427 =

\o
o B
- 4,27

5'.?_3

4) 0.7+233 =

]
076
+2.%3

T e
3 03

6 7052) = (3.01)

0.52



Evaluate the following expressions. Pay close attention to which operation you are being

asked to perform.
9) (5.31)0.26) (1.3 806 )
5.3\
.2k
3186
[ 062 2

S
1.3¢ 06 Q‘J"C\g\@("

11) 0.88+3.2 :

3.0
+ .88

“4.68

13) 7-1.48
¢
7.85

i

e ———

5.512

15) 11+0.2 :@
5 S,
ol

O

I}\/{’
10

10

10) 4.002-0.795 =(3.207%F
3992
%.puL
_ ,7195

iy
% 2071

12) 16.9+13 :.
| 3
aled,

39
3
14) 0.271+0.553 -:.
1
0.2
4 0,555
._______..-—'
0.31L4
16) 8(5.43) = -
) 864) {244
543
A R
/
an‘

6



BONUS:

1) Mr. Mason asked the children to open their math books to the facing pages whose
page numbers add up to 85. To which pages should the children turn? 9 gy & 4 3

2) Mark accidentally tore out a page of his math book. Mr. Mason asked him what page
it was. Mark said that the sum of the page numbers on the facing pages was 127.
What are the page numbers on the pages Mark tore out of the book?
P 62 and bF



Summer Math (7)
Worksheet 5 — Fractions

Evaluate the following expressions. Write your answers as mixed numbers.

\ 1 1,1
1)%.2— 2) Zé:_!,
3X s T (L
3 2

-+

3 el =@ g 141 :
573 6 2
3
‘Lz L&z‘
-l-!-oﬁl'—a' = 22 }‘/ PN
B 3 E) '3
|
, 1
8.5 8
DT \:'? ) :@
?Z?\ 6\)5‘,\.?
- U
8 L B2
S 75
\
42
3 1., _
7)? = 8) 25427 _,®
9\;\\? \1 21-
i, &3 uz o
-z‘ 5 5 \ 1
(
4 2 3 3 s
9) 7+7_ 10) 5710 = U0
\p
¢ 4



2.1 7 2 1
11y S == 12) o2
G N ¥
g 4 2 s .32
1’ 18 iz )z
my - L1 2 % W L1
12 3 8 14
% L
iz 1% 5t 5L

15y 12431 = (S) 16) 53 _31 .—.:
\,3</3 575

ke 2§ 1t -13
5 5 5

BONUS:

1) A Drug Store parking lot has space for 1000 cars. 2/5 of the spaces are for compact
cars. On Tuesday, there were 200 compact cars and some standard size cars in the
parking lot. The parking lot was 3/4 full.

How many standard size cars were in the parking lot? 500
2) Farmer Tom put a square fence around his vegetable garden to keep the deer from

eating his corn. One side was 10m in length. If the posts were placed 2m apart, how
many posts did he use? (L



Summer Math (7)
Worksheet 6 — Fractions (Mixed Numbers)

Evaluate the following expressions. Make sure that your answers are in simplest form.

1y 42_321 5 D) 3ass =
3 3 6 4

L S T # 2
3" 373 8.3
3 1 _4Yl
E AR
3) -78_33 =(-|ps 8 27422 '—'
15 "10 2 R
v Yy \L l
-3 _33
s m a5 48
Jy 3 3
-2t 99 _-31L5 Y
D 0~ 20 15+.’.'j ::\ﬁ-
I 9
3 .5 _ 2 1 _
NP P V
43 11 _1. 3
g b Tt 2
129 68 _ ¢ i
_2.—%— g4 a4 -14 _\.'ig—:. +-§‘—
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7) Ammie passed around a basket of strawberries to the girls at her party. Before the
party she ate 5 strawberries and gave a friend 3. Eight girls arrived at the party. The
first girl took a strawberry, the second girl took 3 strawberries, the third girl took 5

strawberries and so on. After the last girl took her strawberries, the basket was empty.
How many strawberries were in the basket at the beginning?

Ammi’s

bogker oF o ] 3] 1 [305)31a) vz s

SObETEE a e 11T _
|S_+\ g\‘vl ;w\ Theat wert 7 straw-
3\1

bunao tn The basket

8) Rob wanted an allowance. His father gave him a choice of getting it on a weekly or on
a daily basis. He said he would either pay him $1.25 a week or pay him in the
following manner for a week: On Monday he would give him $0.01; On Tuesday

$0.02; On Wednesday $0.04 and on through Sunday. What would you tell Rob to do
so he can get more allowance?

mathod 11 31,25 MethodZ: 12+2¢+4€ + 8¢+ bE + 32 et
M2« el

BONUS:

1) Jenny bought 7 t-shirts, one for each of her seven brothers, for $9.95 each. The cashier

charged her an additional $13.07 in sales tax. She left the store with a measely $7.28.
How much money did Jenny start with?
$90

2) I am an astronomer and my camera lens is 1.372m across. My friend George is a spy
and he has a camera lens of 2.9cm across. My aunt Marie is a surgeon and she has a

lens 1.5cm across.
a) How many more metres across is my camera lens than Marie's? .34 3 m
b) How many fewer metres across is Marie's camera lens than George's? 04| m

c) Around how many of George's camera lens' would fit across mine?"n



Summer Math (7)
Worksheet 7 — Intro to Percents

Mamne
1. Virite each fraction 4s a perceut.
a6
@ 100
19
k) 20
a4
) 35
"
8 Write each decimal as a pereent,
&) 017
)] 0.95
) 0.03
i) 0635
3. Vidite sach percent as a fraction.
a %
i) 75%
) 18%
d) 105%
4, ite sach percent asadecimal,
a) 19%
k) 12.5%
&) B5%
i) $.0375%

12

Date

’5,79
9 2o

’ lq

<125

. AS

« 000375
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BONUS:

1) The number of hours that were left in the day was one-third of the number of hours
already passed. How many hours were left in the day? b howo

2) A manufacturer claims that a new motor oil saves 5 percent of the gasoline used by a
car. If you drive 24,000 kilometers a year and he gets 32 kilometers a gallon of
gasoline, how many gallons of gasoline could you save in 1 year? 3.5 3 ol



Summer Math (7)
Worksheet 8 — Linear Equations

Solve the following equations.

) 2x=16 2) h-5=11
3 Py 5 ¥5
=\
x=8 4
3) 2210 (mdivided by 2 equals 10)  4) T+w=15
2 \.-" v7
(™= )o W= §
a.
5) y-3=-5 6) 1.
Y= e
3 ¥ i

(10

7) g+30=-45 8) —6n=-42
<%0 -3p oyl

”, h=
(]

9) 18-z=12 10) §=—21

-7 +-{, 3(-%‘ 5—2))3

14



BONUS:

1) What is the starting number (?) ?

D =

A

Multiply by 0.5

h' 4

Multiply by 1/3

N/

Square the number

N

Add 1

50

y

A

2

u_; u‘_\\_}

15
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Summer Math (7)
Worksheet 9 — Perimeter

Find the perimeter of the following figures. Include units with your answers.

I)GEEEEEB ) (P=120 )

5.4m
501t
2.7m 2.7m 30ft
40ft

5.4m
]
0.4 S.4 1p. 2 +50
(20
: ) s
>em 3.2in
\ / 3.2in 3.2in
15¢cm 15cm

[ 11lcm 3.2in 3.2in

2% 3.2in

)

\ 5 3.2

—= rL

L3 15.21n

5) 6 (P=224m
3nm1 64m
9mm
6mm 6.4m
{
Smm (4 48 12.%

. o XZ y2  49.%

433364539 =

2.8 4.4 2124
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BONUS:

1) Jeremy had this problem on his first mathematics examination. He was having big
problems with answering the question. Replace each letter with a different number.
Identical letters should be replaced with the same number.

SPART
RSN 11979
TRAPS X Y

Can you help him?

79 12
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Summer Math (7)
Worksheet 10 — Area

Find the area of the figures below. Include units with your answers.

YCEIITS »(A=155 1)

11mm

3t

5.2t

3.lcm
_ 3.\
7in 4.8cm L\. 2
—7m 24%
|24
|48 €
4= L2 in>) 6 @. (g2 m°)
2.5in . :’;
n =
: 42
Rl 13m I

1382
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Fine the areas of the following triangles. Include units with your answers.

: \3111

4in

AzL(3)=6

9cm

12cm

L (2)(9)=t )

? Gz 252m) g
[4mm

36mm
L (a)04) = 1504) L
18 3 = 3.57_ 2%_('7.."‘3(1)
x4 = () ()
182

12in




20

BONUS:

1) A side of square B is four times the length of a side of square A. How many times
greater is the area of square B than the area of square A?

Bis 16 hmes A

2) Shane the Snail started at the dot. What side will he be on when he has crawled 13/20
of the distance around the regular pentagon of equal sides?

Side B Side A

Side D

Side D

Side C
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Summer Math (7)
Worksheet 11 — Angles and Triangles

Label the following types of angles as “acute”, “right” or “obtuse” and estimate their
measure.

1) 2) 3)

- O
povta , (0° sy st 120° o cute 40
J

4) 5) 6)

obunag , 1307 viﬁt&, 20° ocude, 10
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Classify each triangle as isosceles, scalene, or equilateral and as right, acute, or obtuse.

7. : 8. o A 10.

" i 4 5
\\3:3;, | !\X i \ | \/

N

BONUS:

1) Two carpenters decided to design desks for students at the Junior High. The

dimensions of the desk are as shown. How much wood would they need for 30 desks?
(in cm?).

70cm

20em Z0cm

1) Carpeting is on sale and Mrs. Doyle is looking for some carpet for her living room.
Her living room is 4m by 5m. How much will it cost her to do this at sale price?

CARPET SALE $159 W

Regular $9.99 square meter
Now on Sale for 20 percent off

2) The total bus fare was $2.10. What was the distance travelled when the fare is $0.90
for the first 1/3 km and $0.10 for each 1/8 additional kilometer?

I%km
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Summer Math (7)
Worksheet 12 — Word Problems

For each problem below

define the variable
write the equation
solve the problem
answer the question

1) Four less than a number is 70. Find the number.
Lo} x= 4
X-4= 70
I
x= 14 Tha numloty is Y

2) 5 more than twice a number is -8. Find the number.

= . L
L&-‘- X—j‘:\: -W\L V\\AW\"JCV S - bl.
Ax+5= -8
-5 =5
ax=-3
X 5 -IBA
3) If twice a number is decreased by 10, the result is 26. Find the number.
ley x= &

Ix-10 = 2L
10 +10

2x=2b

4) The ABC Car Rental Agency rents cars for $23 plus $0.10 per mile. If Ruby has $55
to spend, how far can she drive?

le¥ x= lhow Lav <he A\;\WS

X=1% -ﬂ ¢ humboev s 18

20 .
-1 23 N
3= . 1X She can dvive 220 mi
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5) Danielle saves $3.75 per week. How many weeks will it take her to save a total of
$52.50?

Led X= it weelts
52,50 = 813 %,

%2.75 3.15 She will 2ave 1Y weeks

14 =X

6) Rachel has two thirds as many customers as she had yesterday. If she has 18
customers today, how many did she have yesterday?

Let  Xx= & cuShwmevs yrslevday

1% = 23-_,( Shy had T cuotmmays
w7 Yor d
2-_”? = X YQ_S d\\/.

23 =X

7) 40 less than 8 times Mary’s age is the same as 24. How old is Mary?

Led x= Mw»&‘s oot

x-4D« 24 Mawé W 3
$40 +40

TEx =i
% %
x=1%
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8) If $56.35 is $21.65 less than double the money Sally earned. How much did she earn?
le+ %= ot Sa“\l LarnS

2035z gx-21.65
$21.65 + 2/i65

T3.00 = Ax
39=X

She 2avrns $39

9) In an isosceles triangle the base is 6 inches longer than each of the legs. If the
perimeter of the triangle is 36 inches, how long each of the legs?

let x:ﬂxnj\"\ 0’5 a ‘Q‘Qj

X X

EG.C)»’\ le‘g 1S 1D

)(Hs

36, Ax+4 L
-~ - b

30:3){
(0 =%

10) The perimeter of a rectangle is 42. If the length two times the width, what are the
dimensions of the rectangle?

2%
X X = width

Qx:lehj% m Q—“’I w )L} -
and the width w T

Ha= X + X+ 2X¥AX

§=bx
7=X



GRAPHITI

Locate the following points on the graph below and connect them in order with straight line
segments. Do not connect points separated by the word "STOP "

HBR T s

10),
9)(1 I ), (9 /1)(4 ) (-311), (-}/6)).
. (5,A41), 8) (? A 1) ( (10 1), (1 -7), (12,-11),

29, 0141 (2401, @, e
HINT! On a windy day, you might want to do this!
Remember to connect the points as you work!

-
S 2R
N
\" ;

O - N W O~ O O
/

\\ BN

A\ \

O o N O O A~ W N =

)
[y
»

-

[
—_
-

£

-12-11-10-9 8 -7 6 5 -4 3210 1 234 5 67 8 9 10 11 12
<4 -X > 4— X — >
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